FHTEE BHERAAERR (b3 BRHHE)

AR 68 580K 98 4B (K) (Lehlze/6H%)
ER4 7 7] JAIE
. _ BIERR | AIERR BIERER | BIERKR
N |.-l-| =] = = 3 =
AT BE | X2 | TGoerm | (0oerm) | FE | FF | "Goem | (100cm)
RBE 7:10 = 0.087 0.085 7:20 = 0.085 0.078
WHE/NER VR EXRE MR A8 7:15 £ 0.075 0.066 7:25 ) 0.071 0.065
EEEMAAA 7:20 B 0.066 0.063 7:30 g 0.070 0.063
WEER 8:56 ) 0.061 0.068 8:58 W 0.065 0.069
BEH/DNER WREDR 8:57 = 0.065 0.067 8:59 [55] 0.072 0.069
KENERT 8:59 g 0.053 0.044 9:02 551 0.046 0.044
ST IO LT 7:00 ) 0.090 0.094 7:00 2 0.096 0.091
FEREEF /N B EE T 7:00 ) 0.080 0.083 7:00 2 0.085 0.078
AL sk aE 7:00 B 0.081 0.084 7:00 g 0.090 0.088
HRBEFE{E 9:14 ) 0.053 0.066 9:06 ) 0.073 0.058
N NER | & B RO EAMRGE 9:21 ) 0.061 0.059 9:00 ) 0.065 0.067
EREWAAA 9:17 B 0.060 0.053 9:15 E 0.052 0.052
A 10:00 ) 0.077 0.062 10:00 ) 0.079 0.072
HE/NER | RERB R S 10:00 ) 0.060 0.045 10:00 ) 0.056 0.058
A% BE P il 10:00 B 0.066 0.065 10:00 E 0.056 0.048
REERT 16:00 ) 0.086 0.080 15:05 ) 0.090 0.079
RAER | EREEAE 16:05 ) 0.055 0.068 15:10 = 0.066 0.066
EEREEATANA 16:10 E 0.055 0.067 15:00 B 0.068 0.064
B 11:15 ) 0.057 0.048 11:20 ) 0.053 0.052
MRER  BRERAE 11:20 2 0.054 0.053 11:25 ) 0.055 0.054
EREE 11:25 E 0.056 0.059 11:30 B 0.054 0.057
EEZ:0 10:00 ) 0.058 0.055 10:05 B 0.057 0.065
dFER BREERERE 10:05 ) 0.057 0.051 10:10 B 0.055 0.045
EAEEITETE S 10:10 B 0.062 0.058 10:01 i 0.053 0.043
KEHFETII/O0—R)L /BB (4 Sv./h) TT,
-3 516 s 3 R4
SHXEE BHRAIEHER (DMPER BILAFHA)
B
st AlEH 128 48 0K) 38 480K
; = - AIEHER | BlERHR BIERZR | BIEHR
3 ||-'-| 1=} V— 1. = =
RIESRR 5Pl RZ | "506m) | (1000m) | FH AE | (500m) | (100cm)
WEE 7:00 BE 0.081 0.078 7:30 W 0.085 0.077
WHA/NER | REXBE R AE 7:05 B 0.070 0.062 7:35 (55 0.069 0.065
ISR 7:10 5 0.072 0.065 7:40 [55] 0.070 0.060
BRER 9:06 & 0.062 0.065 8:16 [55] 0.085 0.084
FEH/NER KEDR 9:03 (5 0.075 0.072 8:16 5] 0.063 0.059
ABENMNERET 8:59 5 0.060 0.066 8:15 [55] 0.049 0.051
DG IWDLT 7:00 i 0.088 0.085 7:00 INR 0.080 0.088
FEREEF /AR [ EEh R 7:00 i 0.074 0.071 7:00 INFR 0.058 0.056
ERETE RS 7:00 i 0.082 0.078 7:00 INFY 0.058 0.056
BEFEA 9:07 i 0.071 0.055 9:15 55 0.058 0.055
A+H/NERR |2 B o SAIMEE 9:02 (5 0.066 0.056 9:10 [55] 0.051 0.052
BEEEME 9:13 i 0.068 0.062 9:21 551 0.065 0.074
BERRE 10:00 i 0.083 0.068 10:00 INFR 0.092 0.083
HMEINFER | REXEE AE 10:00 B 0.068 0.047 10:00 INFR 0.057 0.058
AR 7 Al 10:00 [ 0.069 0.056 10:00 INER 0.079 0.067
KEEREF 15:00 [ 0.100 0.084 15:00 = 0.089 0.081
HHRER \yoRyREl 15:05 i 0.058 0.066 15:05 = 0.061 0.065
EREWRAAA 15:10 5 0.072 0.063 15:10 & 0.069 0.067
¥ 13:40 g 0.048 0.057 11:20 (5] 0.049 0.051
APER  BRERAE 13:45 B 0.060 0.052 11:25 55l 0.062 0.064
FZRI—k 13:50 i 0.044 0.039 11:30 (55l 0.042 0.047
BEME 10:00 & 0.069 0.054 14:20 INFY 0.065 0.049
bR [EEEBHTE 10:05 i 0.047 0.057 14:25 INFR 0.049 0.045
2 EaEE 10:10 i 0.071 0.055 14:30 IR 0.074 0.063
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